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Introduction

This standards booklet, for International AS/A Level Physics, draws on typical responses given in question
papers from the November 2008 session. Examples are given for a selection of questions from each of the
four written papers:

Paper 2 AS Theory

Paper 31  Advanced Practical Skills

Paper 4 A2 Theory

Paper 5 Planning, Analysis and Evaluation

For each paper, sample responses are given for a number of questions. In each case, responses are shown
from each of three candidates:

Candidate A

This candidate is typical of a student who receives an eventual grade A in the overall International A Level
Physics qualification. Although some responses show occasional slips, the standard of knowledge and
application of this knowledge is at a high standard.

Candidate B

Responses from this candidate, although also very good, fall just short of the standard expected from a
grade A student. A consistent understanding of the core knowledge is demonstrated, but the candidate
struggles with some of the finer understanding of the implications of the physics that has been learnt.

Candidate E

Responses from this candidate demonstrate only just sufficient knowledge to gain an eventual pass mark.
The student has clearly gained some understanding and skill from their A Level course, but continues to
struggle with some of the basic concepts that have been taught.

In each case, candidates’ responses are accompanied with an examiner’s commentary, explaining where
answers fall short of the standard expected, and giving suggestions for how students’ answers could be
improved.

The responses shown are genuine answers given by candidates, though in some cases these come from an
amalgam of different scripts. The answers have been rewritten, to protect anonymity.

It may be helpful to read this standards booklet in conjunction with the November 2008 mark schemes and
Principal Examiner’s Report to Teachers—both of which are available from CIE's Teacher Support Site, at
http://teachers.cie.org.uk/.
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Paper 2 AS Theory

Question 2

A car is travelling along a straight road at speed v. A hazard suddenly appears in front of
the car. In the time interval between the hazard appearing and the brakes on the car coming
into operation, the car moves forward a distance of 29.3m. With the brakes applied, the front
wheels of the car leave skid marks on the road that are 12.8 m long, as illustrated in Fig. 2.1.

position of car skid mark

when hazard appears ,

29.3m 12.8 m O
<

Fig. 2.1
G

It is estimated that, during the skid, the magnitude of the decﬁr ion of the car is 0.85¢g,
where g is the acceleration of free fall. 0
General comments (;\‘
Candidate A
The candidate demonstrates a clear understanding,the equations required for a solution of the numerical
parts of the question, ignoring a minor slip in t ber of significant figures quoted in the answer to (a)(ii).

It is recognised that good candidates can m% e odd slip due to exam pressure. The candidate then gives

correct answers to two out of three required for the comment section (b).
Candidate B

anding of the equations required to solve the numerical parts, but at
ade A candidate. This candidate correctly identifies the idea of thinking

The candidate shows partial u
not quite the same level as
distance.

Candidate E
The candidate uses the correct equation in (a)(i) but, as with many grade E answers, attempts to use the
same equation in (a)(ii). For (b), many grade E answers did not draw correct conclusions from the answers

to the numerical parts, or the candidates never attempted this section.
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Paper 2 AS Theory

Specific comments

(a) Determine

(i) the speed v of the car before the brakes are applied,

Candidate A

v = au* tl4as
0o =u*tr 7 (0-35)(4-31)(12:8)

-1
TR AN

Full marks for a correct answer to an allowed number of significant figures.

Candidate B

ud JEF=ur+2as
o - u2t2(-085x9 ) +12:%)

U = ottt

265 146 ms”

[}

\

W\

b
V= %#5' ..... ms™! [2]

Full marks for a correct answer to 3 significant figures.

Candidate E

s= 293 o =.O=8§j
vi=yx 205
vi= 2 (o.8§ x9-3)( 2‘1-3)

v ="{(2 XO%Sx"l-Sl)(Zq.g)\ =221

V= oo LA ms™! [2]

One mark for this section. The candidate uses the correct equation but makes a substitution error, entering
the wrong distance and so loses the final mark. This wrong value would be carried forward to (b) and,
provided the candidate made consistent comments, full marks would be awarded.
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Paper 2 AS Theory

(i) the time interval between the hazard appearing and the brakes being applied.

Candidate A
| 2
75.3 = l4.6¢ +0
4+ = 2.00¢

time = ..%:29 . s 2]

Full marks for a correct answer, ignoring one minor error in the significant figure ca@n

In general, candidates are allowed to quote answers to plus or minus one &gﬁg figure than required
by the numbers used. The only occasion when this is not the case would be n a question asks for an
answer to a specified number of significant figures. @

In this paper, the candidate uses three significant figure values i t&calculation 29.3/14.6 which, using
the above rule, would allow the candidate to give answers of 2@%, 2.01s and 2.0s for full marks. The

candidate, however, gives an answer of 2.00s. &
Candidate B @0
yf%o,?f
0 v u+at
= 0%
4 =318

The candidate thinks the car is decelerating in this section, wrong physics, no marks awarded.

Candidate E
5-213 57128 as-O85y
2
- L&l
5o+ Lak

2
29-3 —\23 =% (085*"“%‘>b
\-949

time = ... s [2]

The candidate thinks the car is decelerating in this section, wrong physics, no marks awarded.
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Paper 2 AS Theory

(b) The legal speed limit on the road is 60 km per hour.
Use both of your answers in (a) to comment on the standard of the driving of the car.

Candidate A

The candidate correctly calculates that 60 km/hr = 16.7 m/s. The second mark then requires the candidate
to state that this speed is lower than the speed limit; however, the candidate makes use of the words
maintained the speed limit and has been given the benefit of doubt as compared with exceeding the speed
limit and has been awarded the mark.

The question asks the candidates to use the two answers in (a) and so the final mark was to realise that the
answer to (a)(ii) was the reaction time and that 2s was a very slow reaction time. The candidate misses this
point and so no mark is awarded. This was a very common error when students answered this question.

Candidate B

In this section the candidate is only awarded the mark for a large thinking distance equivalent to a slow
reaction time. The error in (a)lii) is carried forward and the conclusion is still consistent with the incorrect
answer in (a)(ii).

Candidate E

......................................................................................................................................

The candidate thinks the car is travelling at 60 km/hr but includes no physics to link this back to (a)(i). The
candidate also failed to introduce the idea of reaction time which, if correctly referenced back to the wrong
answer in (a)(ii), would gain the mark.
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Paper 2 AS Theory

Question b

Some smoke particles are viewed through a microscope, as illustrated in Fig. 5.1.

A

[

microscope
| p

Q

C§>

g smoke cell @ .
N
Fig. 5.1
N

Brownian motion is observed. c)
General comments \
Candidate A

In answering this question, the candidate s a clear understanding of the interaction between the air
molecules and the smoke particles.

Candidate B

The candidate is able to disp Sod understanding of the physics required to answer the first two parts of
the question, but is unabl ly this knowledge to generate an answer to the unfamiliar situation in (¢).
Candidate E

The candidate has a rather vague idea about the random motion of particles, but is unable to see the link
between the movement of the smoke particles and the random motion of air molecules.

Page 9-of 100
Cambridge International A & AS Level Physics 9702 Standards Booklet.

wWwWw. yout ube. cont negal ecture



Paper 2 AS Theory

Specific comments

(a) Explain what is meant by Brownian motion.

Candidate A

Full marks obtained as the candidate states that Brownian Motion is the random motion of smoke particles.

Candidate B

Oﬁ.egﬁ.\’.%mim ..... (. Brounian nodion. sho-(s oxidune
PWMCOVYHﬂudAS,{QﬂdOMM<7}<mql)go\bwdﬂ[z]

Full marks gained for the random motion of particles in air. The mark scheme was looking for smoke particles
but benefit of the doubt has been given by reference to the next section where the idea is that the smoke
molecules are moving randomly. The word molecules is ignored.

Candidate E

__B(o»«f\(m md{/’u;l\ s Y rW\Jﬁ!\ MUVQ"‘Z\t of msble an

.................................................................................................................................

nolecles thewh sroke m‘k&e; :

..............................................................................................................................

One mark gained in this section for random movement but then the candidate associates this with the
motion of the invisible air molecules not the smoke particles.
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Paper 2 AS Theory

(b) Suggest and explain why Brownian motion provides evidence for the movement of
molecules as assumed in the kinetic theory of gases.

Candidate A

Ssnatetne Saadke palSidlelant. beisy.cdllided boy......
Lair.mfleculed Laalagphalaced ey . b mtand
’C‘/\thcwMﬂfmlex/%/MMm/ﬁ‘/Ww—rﬂ/éktﬁf ........
Lt aas Ly..-. ............................................................................................. 2]

The candidate loses the first mark as there is no indication why the smoke particle@: there is no
mention that the collision rates on the smoke particles are unequal/unbalanced. ver, the second mark
is awarded for the statement that the motion of the striking air molecules is @om. These are B marks so
the two answers are not linked and can be awarded separately.

Candidate B

Mark awarded for the link between Rinetic theory and the random motion of gas molecules. The candidate
does not gain the additional marlg in this section as there is no explanation of how this leads to the
' : tompare this with the A grade candidate.

..............................................................................................................................

; » bl - \b ahse dhosed thak
@gﬁg&%ﬁgﬁﬁ&kﬁmﬂ&& .......................... 2]

No marks gained in this section as the candidate needs to explain why the smoke particles move:
unbalanced forces or unequal collision rates. Compare with the grade A and B candidates.

o ooy keel.

Page 11 of 100
Cambridge International A & AS Level Physics 9702 Standards Booklet.

www. yout ube. cont negal ect ure



Paper 2 AS Theory

(c) Smoke from a poorly maintained engine contains large particles of soot.
Suggest why the Brownian motion of such large particles is undetectable.

Candidate A

Full marks are again awarded for the two statements that the soot is hit by air molecules in all directions so
the resultant force is zero and so the particles do not move. Just a statement that the resultant force is zero
would not be sufficient for the first mark as the statement needs justifying.

Candidate B

No marks awarded for this section because, although the candidate talks about /arge particles (given in the
question), there is no explanation as to why this is important in averaging out forces on the smoke particles

to zero.

Candidate E

("o\L:B\;” uhak}’\ Qus  (Mole S

No marks for this section. Again the candidate talks about large particles — see the grade B candidate. The
candidate then makes two incorrect statements showing a very poor understanding of the physics involved
in Brownian Motion.
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Paper 2 AS Theory

Question 6

General comments

Candidate A
The candidate in answering this question shows a very clear understanding of the physics involved in the
two experiments required. There are two minor omissions which prevent the answer gaining full marks.

Candidate B
The candidate shows a good understanding of the basic physics of diffraction in answers to the first two
parts of the question but is unable to extend this to the diffraction of longitudinal waves.

Candidate E @
The candidate has a basic understanding of diffraction and the diagram in (b) giv@.i her confirmation of
0 be used.

this fact. However, the candidate has only a vague idea of the experimental s€t-

Specific comments @ .

(a) Explain what is meant by the diffraction of a wave.

Candidate A &0

wave.

Full marks for this section as the candi tates that diffraction occurs when a wave incident on an
obstacle bends.

Candidate B

Full marks for this section: the answer contains all the points as indicated in the grade A candidate’s answer.

Candidate E

Full marks for this section — see grade A and B candidates.
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Paper 2 AS Theory

(b) (i) Outline briefly an experiment that may be used to demonstrate diffraction of a
transverse wave.

Candidate A
ggl\ﬁ\b
(Wt
'\L\)\ L | screent
SR
&
//\ Kl
MmooV »
SD‘A{('Q oX
\»“3\"‘(

Three marks for this section. The candidate was awarded the first mark having been given the benefit of doubt
that the diagram indicates a coherent source. The examiner would have preferred a slit after the source. The
next two marks are awarded: one for the detector, screen, and one for what is observed, dark and bright fringes.

Candidate B

: ek fo
ﬁﬁ?ﬁ&af (MOJ\M§

r\'q(ldc.n\(
Woodwn blacks

lene pogar wheve
&Mofdcg oL Obsanvtd

This candidate uses a ripple tank as the demonstration of diffraction, a valid experimental method. This was
the most common answer from candidates to this part of the question. One mark for the source, dipper
moving up and down, one mark for the detector, light source and plane paper. The candidate, however, loses
a mark because there is nothing to indicate what is observed. The curves drawn on the diagram are not
sufficient without some explanation.
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Paper 2 AS Theory

Candidate E

dikk cachan oy

< . 7
PRE
Pt\e/\sauselmzmww ..... mssed“wg‘\gﬁp&«ol

This candidate has a diagram of the correct experiment re uireB&t the labels and the description miss
all the important detail. What is the nature of the source, .how.s the information detected and what is

observed? A few correct labels on the diagram would least the last two marks as obtained by the
grade B candidate with a very similar diagram. @

>
&0)
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Paper 2 AS Theory

(i) Suggest how your experiment in (i) may be changed to demonstrate the diffraction
of a longitudinal wave.

Candidate A
N\e
NN
wol e
N A
N
S o y-plates
. N of e R0
e smad wave. LS. Aif hvaded Snsogh Cue suagle
L0 aad. e, G2 R0 oodds. pulied of wlavtd st
VALY A AN A S €T e [3]

One mark out of three for this section, loudspeaker plus slit. However, the diagram does not label the
detector as a microphone, which is not clear enough from the diagram. The statement the CRO records
pulses of waves with varying intensities is not enough to explain what is observed. A suitable answer would
require the candidate to state something on the lines of the CRO displays a wave with an amplitude which
varies as the microphone is moved.

Candidate B

%m«w'sm&&bﬂw@mm{m\ ........

No marks for this section. There is no diagram and a dipper moving horizontally would not generate

longitudinal waves, unlike the answer from the grade A candidate who was able to extend the physics to a
correct longitudinal experiment.

Candidate E

OC O has ‘to Lo (,uz(l MV’\Q N t tove [3]

,U\é ...... we_ .....

No marks for this section as there is no attempt to provide an experimental set-up. The candidate does know the
motion of the particles in longitudinal waves but there are no marks in the scheme for this information.
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Paper 2 AS Theory

Question 7

A potential divider circuit consists of two resistors of resistances P and Q, as shown in
Fig.7.1.

Fig. 7.1 @ ¢

The battery has e.m.f. E and negligible internal resistance. 0’&

General comments 0’\‘

Candidate A
The candidate makes only two minor slips in ans\qing this question and clearly understands the application
of Ohm'’s law to the two circuits used. @,

Candidate B
This candidate has a clear understar&the application of Ohm's law to the question but makes a simple
error in the thermistor part of the question, which was a pity as the candidate clearly understands the
physics involved. .

Candidate E
There is little to indicate™hat the candidate knows how to apply Ohm’s law to this question, but the attempt
by this candidate has some merit: the majority of poor candidates did not attempt the question at all and
scored zero marks.
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Paper 2 AS Theory

Specific comments

(a) Deduce that the potential difference V across the resistor of resistance P is given by the
expression

Candidate A

SUACe CaeckUom U5 CA Se/NeS ) [ fame cuvert i biTie

PAAMQ.
=0k, v=1,P
[ = JE
- /
P4 Q
2]
v = IR
g = ¥
1
=€ v=1k
- /
Tre /,%/bP
148 = 2ftecivevessiuace R
($erves) _ P _.E
—

P)VQ PQC/\CQSMM

Full marks for this section, one for Ohm'’s Law, the line that V = I,P and one mark for the current in the
circuit, I,=E/(P + Q). Benefit of doubt given to the loss of the subscript used for the current in the diagram

but it is clear from the text how the candidate arrives at the answer given in the script. The marks are
awarded for the method the candidate uses to arrive at the answer.
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Paper 2 AS Theory

Candidate B

2]

Full marks for this section with this candidate giving a@ch clearer solution than the grade A candidate.

(%
= RP Q E-Tr=V
R(’RQ

@w&

= (,V - —LRR
RPRQ

i v — TR
z CV-IQ())CKQ)

The candidate starts with the answer and writes it down incorrectly on the first line. No marks are awarded
because it is difficult to see what the candidate is trying to prove.

Candidate E
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Paper 2 AS Theory

(b) The resistances P and Q are 20002 and 5000 Q respectively.
A voltmeter is connected in parallel with the 2000 Q resistor and a thermistor is connected
in parallel with the 5000 resistor, as shown in Fig. 7.2.

____‘,_GPY e

2000Q 5000Q

e T S oy B

—()—==

Fig. 7.2

The battery has e.m.f. 6.0V. The voltmeter has infinite resistance.

() State and explain qualitatively the change in the reading of the voltmeter as the
temperature of the thermistor is raised.

Candidate A

Three marks for this section with the first awarded when the candidate states that the resistance of the
thermistor decreases as the temperature increases. The next mark is for stating that the total resistance

of the parallel combination of the thermistor and 5000 Q2 resistor decreases, hence increasing the voltage
across the 2000 Q resistor. The candidate answers these last two points using a valid alternative method by
considering the total circuit resistance and the total current in the circuit.
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Paper 2 AS Theory

Candidate B

The candidate gains the first mark for the change in resistance of the thermistor. Th@ two marks are lost
as the candidate thinks that this leads to a decrease in the current in the circuit. rtunate slip, due to

pressure in the examination? ()3

Candidate E

.....................................................................................................................

The candidate gains one mark for realigi ;esistance in the circuit decreases as the temperature
increases, but states at one point thelt tae current in the circuit increases because the potential difference

across the circuit increases — ang so clearly does not understand the concept of e.m.f.
*
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Paper 2 AS Theory

(i) The voltmeter reads 3.6V when the temperature of the thermistor is 19°C.
Calculate the resistance of the thermistor at 19°C.

Candidate A
. Teomt Rurcuoffs viltuge (4w,
Vimesmosto (¥ Voopo o = 6216

£ e R reptha(e

. -\ -/
4 € £t Ve vessaace :[L/ %Dj) 3y 2000

j/w—/ 42000 ]
fooed resistance = }'?D)(/O ........ Q 4]

Current ca l0008]l = v = $-6 _ /'S’X/O_Z
R 2600

AT N e
(urrat oA S0005L = 29 = 4w x /o tA

$000
S CurreaX CA s o pvo M Kurcoft s (et
[aw = 1§ x/o% — ey x[0Y

~1.32x(073A v=1K
Resutance = 224 pagyjot BTV
1.32 % 10 l

There are two valid methods of approaching this calculation. The first method is to calculate the total current
in the circuit using the voltmeter reading and then calculate how the current is split between the two parallel
components. The candidate uses this method and correctly calculates the current in the circuit, 1.8 mA and
the current in the 5000 Q resistor, 0.48 mA. The candidate then makes an unfortunate substitution error in the
final calculation carrying forward 2.24 as the subtraction of 6 — 3.4 for the voltage across the 5000 resistor
and so loses the final answer mark. The other method is to calculate the total resistance of the parallel
combination, 1.33kQ, and then use the equation for the resistance of a parallel combination to calculate the
resistance across the thermistor.
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Paper 2 AS Theory

Candidate B

ok {u{s\nr&kcﬂ“i(/\/m%s\z/ be £
V= 4000 ¥ -0
lOOO+(§)Loo4' -—?&’B”
2.,z 200 %60 A8

+ ii);ig resistance = %I%Q)% [4]

06 =222 s, <
Ho0 R 45000 ()O

000 + (50"0& = 33333

R +5000
SocoR. <3339

B350 ,,Lccgff {%\)gcu - £82 3132

= |233- 5Q

Full marks gained in this section with a very clea\Qlutlon and an answer correctly given to two decimal
places.

Candidate E &
E ~Tc=V
/@// 6 %) =3¢
2000

2300

resistance = ........ 2%00—/\—9 [4]

No marks gained. Again the candidate does not understand circuit theory as demonstrated by the addition of
the 5000 Q2 and 2000 Q) resistances in the second line of the calculation.
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Paper 31 Advanced Practical Skills

Question 1

In this experiment you will observe the motion of two simple pendulums, and measure the
interval between successive times at which the pendulums are moving together.

You will investigate how this time interval is affected when the length of one of the pendulums
is changed.

(a) Set up two simple pendulums side by side as shown in Fig. 1.1, with each string clamped
between two wooden blocks.

Set the length of pendulum A to about 0.65m.

Pendulum A should be left at its set length throughout the experiment.

0.65m

Fig. 1.1
(b) Adjust pendulum B so that its length [is about 0.5m.
Measure and record the value of [.
(c) Set both pendulums into motion with small oscillations.

Start the stopwatch when the two pendulums are lined up as shown in Fig. 1.2 and are
moving in the same direction.

side view

—_—

\___/

Fig. 1.2

Determine the time t that elapses before the next occasion when the two pendulums are
lined up and moving in the same direction.
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Paper 31 Advanced Practical Skills

General comments

Candidate A achieves a very high mark as a result of setting out the table mindful of units, consistency

of raw readings, range of readings taken and also aware of the number of significant figures needed in
calculated quantities. The graph is also set out to a high standard with points plotted correctly and read off
accurately in order to calculate the gradient and consequently to work out p and g successfully. The highest
standard is achieved despite the poor quality of some of the results perhaps owing to exam pressure.

Candidate B achieves a high mark owing to their ability to set out the table clearly, taking account of
consistency and repeats over a suitable range of raw readings. They can achieve a higher grade by paying close
attention to all column headings having appropriate units and significant figures in calculated quantities being
consistent with the raw readings. The graph plots and line of best fit are drawn to a high standard, but to achieve
a higher standard the candidate can check the labelling of axes and use a larger triangl@ork out the gradient.

Candidate E is able to take raw readings, repeating them over a suitable range, @is able to set out a
graph to determine the y-intercept successfully. To achieve a higher standardf the candidate can ensure
that all column headings have an appropriate unit, raw readings are taken to the same consistency, draw a
thinner line of best fit on the graph and use a larger triangle in determ@ the gradient.

N
G

%
>

&0)
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Paper 31 Advanced Practical Skills

Specific comments
(d) Change [ and repeat (¢) until you have six sets of values for land t.

1
I should be from about 0.3m to about 0.6 m. Include values of 1 and _ﬁ in your table of

results. t
Candidate A
i | s b g t/s I )5 M
0300 1.6 34 3.5 029 | (-3
0.350 | 4% b4 44 0:.20 11-67
0400 < S ¥ 56 0-1% 1-S§
0-4$0 ¥ 3.3 7§ 0-/3 1149
0500 106 [0} v 10°F | p.06435 | 1.4/
0560 19.2 1¢.6 /%9 00529 | .34

E o obime whtn thhe Z peadutums ax Liacd yp aad Moviagia
Samedvrect/™  p-xivXa
—z .

This candidate presents their results in an exemplary way. There are six sets of raw lengths (over a suitable
range) and repeated time readings. Column headings are written correctly throughout including the difficult

column heading of 741/ m™?.

The number of decimal places in the time readings is consistent for each raw value of time. Each quantity of
1/tand 1ALis calculated correctly. VWWhat makes this table of a high standard is that the candidate recognises
the need to keep the number of significant figures in each of the calculated 1/t quantity the same as that in
the raw values of time t, and ¢, from which 7/t has been derived. Notice t, = 79, t, = 77, 1/t = 0.13, whilst

t, =106, t,=10.7, 1/t = 0.0935. Since t, and t, are read to three significant figures then 7/t is calculated and
written to the same number of significant figures (0.09346 would also have been acceptable as one more
significant figure in the calculated quantity compared with the raw data is acceptable). This candidate has
achieved the highest grade because there is a consistency across each row despite the fact that the number
of significant figures in the calculated of 7/t varies down the column. There is a common misconception

that the number of significant figures in the calculated quantity has to be consistent throughout the column
when in actual fact the number of significant figures in the calculated quantity has to relate back to the raw
data.
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Paper 31 Advanced Practical Skills

Candidate B

Toldhs of Valu, of hme () against Wngth of sling (O)

L) Rsodiros of i~ /T’fowa % | /4 %
Pomi| £, (9 | 42 (5)  *5(5)
035 5.22 1513 1 5,01, 5.12./020(171Q
-o)z,to 7,12 715 | 7,10 7og O,14 11,58
045, %,53 | 8,59 f,62 ‘&5% o2 | 1,49
05113, 16 | 13,23 | 1319 . 113.19/0,07 ﬁw
0% 18,72 | 18,90 | 18,85, |13.820,05)135
0w 32,38| 32,47| 32,0 |32,38] 0,63| 1,29
Cuntoid (2101, 4T

This candidate gains marks for setting out the table with a suita@ge of raw readings of length and
repeated readings of time all written to the same number of dec places. Where this candidate loses out

from gaining the highest grade is the failure to recognise
1/l as well as not writing the calculated quantity 7/tt
readings of ¢, and t,. In particular look at the sixth row

rect unit for the column heading of 7/t and

me number of significant figures as the raw
ret, =3236t, =3247t, =

32.30and 1/t = 0.03

is written to one significant figure when four or fiNvould be acceptable (i.e. 1/t = 0.03088 or 0.030880).

Candidate E

O

L/m L AT A KOS 4 T/t

0.3 322 | 333] 33| 0303 23 \¥
Ol gw 6,\%,6-6? eH\Y 2 6
O-L< _3H ¥ R F | O\l 27 \s
0 W\S6 WSB I(WSF| OO% Z Ul
0-SS A-33 (MY -6 Q.05 5 EAC
o6 36-56 366 | 366 0:-027 o & 1D
o7

This candidate gains a mark for taking and recording six sets of results for length over a suitable range and
repeated values of time. The candidate’s response fails to gain credit for the consistency mark in the time
readings (see last value in t, column (36.6) whereas all the other values are to 2 decimal places). Also the
candidate fails to recognize the correct unit of 7/A1. The number of significant figures in the calculated
guantity does not follow on from the number of significant figures in the raw values of ¢, and t, (see

t, = 19.53, t,= 19.58, 1/t = 0.05 when 1/t should be written as 0.5714 or 0.51138). The value of 11 =12
calculated from [ = 0.60 m is recorded incorrectly owing to a rounding error (1Al = .29 or 1.3). This is a
common error.
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Paper 31 Advanced Practical Skills

1
(e) Plota graph of :— on the y-axis against ?/7 on the x-axis and draw the line of best fit.

Candidate A

Dy 5
020

0-22§

030

075

©-250

0.22

0:200 - 3

TP

015

0.125

000

23
v,

0-0%5 =

i1

This candidate sets out the graph with correctly labelled and numbered axes even though the origin is false. The
plots were plotted to within the nearest half a small square and the line of best fit drawn appropriately. One of
the plots (7.69, 0.200) was far away from the line of best fit and so this candidate fails to gain the quality mark.
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Paper 31 Advanced Practical Skills

Candidate B

0,20

0,1§

0,1k

NS

0,4

.

0,04 1 i,

00

]
3
N

N

/7

The candidate sets out a graph with axes labelled appropriately, plots plotted to within half a small square
and the line of best fit drawn appropriately. However the candidate fails to achieve the highest grade owing

to missing out 7.70 along the y-axis leading to a scale error.
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Paper 31 Advanced Practical Skills

Candidate E

W[ /

3 T

03 5

ozK | D4 ™

Fau

0.2

0 22¢

02

0\

O o

Ay
178

)
O 1O vy fz 12 eV g FY (BN 2 .{‘L\/r'\

The axes drawn are labelled and numbered appropriately. One plot (7.8, 0.303) was incorrectly plotted which
is a common error as the 0.003 part of 0.303 was ignored and on the graph grid this amounts to one small
square further up the scale. The line also failed to gain credit as it is drawn too thick. Use of a sharpened
pencil will ensure the candidate gains credit.

Page-30 of 100
Cambridge International A & AS Level Physics 9702 Standards Booklet

www. yout ube. coent negal ect ure



Paper 31 Advanced Practical Skills

(f) Determine the gradient and y-intercept of this line.

Candidate A

WSTAY (133, 0.0350) aad (145, 0.3000) e 3
gralieal = 0.3000-0.010 _ . 4935 2 0-449 to g'}')
1S -1-3%
WSUA lo,y) and f"39)0-°?§0)
3/AAC€AV = w)/
+33 -0

o.fis’/o’}’ - 046873
1 -3 O
M= -0.56 %19 ") gradient = 046; ............................

PSS NA XS

~

y-intercept = .70 S.€

......... P

The read-offs and the calculation for determining the gradient ar (?gqied out correctly. The y-intercept can
not be read from the graph directly so the candidate recognise need to substitute correctly into
y = mx + ¢. Common errors are that candidates will either Pégdoff the y-axis incorrectly when there is a

false origin or rearrange y = mx + c incorrectly (y/mx = c\ingtead of y— mx = ¢), or failing to read off plots
correctly to within half a small square.

Candidate B @.

Covaoliond i&‘/ 32
&xlox (3,42 ; 0,8%) ¥

. )
0% - 0,194 WQ (\1o; O,l%)

- O,L+{ .
— P O, 4|

gradient= ...

=-=mX +C . . - O
\6 o roid \/O\\ e y-intercept = ....oovvvveenn 450 ..................

AV
0,10 = O,4 (\,4’(){(6
o 10~ (osD U1 =C
| C = ’0,50
—n

The candidate reads off values for the gradient calculation correctly. However, the read-offs are from a

triangle whose hypotenuse is less than half the length of the line drawn. This is a common error and fails to
gain credit.

Page 31 of 100

Cambridge International A & AS Level Physics 9702 Standards Booklet.

www. yout ube. cont negal ecture



Paper 31 Advanced Practical Skills

Candidate E

O\ = O 3 C\ . é) +C gradient = ................ O’g ............................
= -0- 25 YANBICEPE = oo oo et

The candidate worked out the y-intercept correctly. However, the triangle used for working out the gradient
was too small, failing to gain credit. A triangle drawn with a hypotenuse either equal to half of the line or
greater will ensure that the candidate gains credit.
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Paper 31 Advanced Practical Skills

(g) The equation relating fand lis

-|-|._L
il

o

|
Qlo

where p and g are constants.

Use your answer from (f) to determine a value for p.

(h) Use your answers from (f) and (g) to determine a value for q.

Candidate A
Vo MY F L@
.0 C
't o* ‘?@Q
P
p = grakealof ne \c =77 J4,
- 0469 € Lo 3 ML)\
dE p= R R o S N m*s1
az 3_\'/\%6/((9V
‘Y/[\/ - -0.567%
P/q/ = D'ge%
0464 - 0.567
—
v .
a = 0" €19 (te 7S S") qg= 0?2% ............................ m?

This candidate recognises that p = gradient and —p/g = intercept and rearranges to give an appropriate value
for pand g. A common error in this particular part of the question is that candidates forget the negative sign.
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Candidate B
1 2f _f = u=mx+c
£ I OL
! - ™M = f_ - P -z
wm = P
() = O'LH
B p= O’LH ................... ms1
A
A s 61/
<L
37 %
m = €
oL =
W g= . m‘ ...... O ‘82- .......... m*
C=-¥

= /O\L('l
i -0,b0
= O,82

The candidate gains marks for recognizing p = m and —p/q = intercept and rearranges to get suitable values
for pand q.
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Candidate E

The candidate recognises,t
out of range to gain full
determine the gradient

= gradient and —p/q = intercept and gains some credit. However, p was

. The values are out of range not owing to the size of the triangle used to

e read-offs were given correctly), but instead to the poor quality of results judged
by looking at the scatter of the points about the line of best fit. This wide scatter is attributable to the number
of significant figures taken for 7/tand 7/A1in the table. The error in the table early on often leads to marks
lost at the graphical and analysis stage, and is a common error.
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Paper 31 Advanced Practical Skills

Question 2

General comments

Candidate A achieves a very high standard by recording all results mindful of the need to repeat their results
and write them to an appropriate degree of accuracy. They are able to calculate the percentage uncertainty
successfully, estimate the length of wire in a single turn, the resistance, the resistance per meter and a
proportionality constant in order to verify the relationship between the resistance and the number of turns.
The high standard is achieved despite the fact that not all the limitations and solutions relate directly to the
experiment.

Candidate B achieved a high standard in taking down all the results and successfully calculating appropriate
values of percentage uncertainty, length of wire in a single turn, resistance, resistance per meter and

a proportionality constant. To gain a higher standard the candidate can repeat their raw readings of the
diameter and make their limitations and solutions more specific to improving the experiment in question as
opposed to changing the experiment.

Candidate E was competent in taking down the electrical results and working out the resistance and the
resistance per meter. To achieve a higher grade, this candidate can measure the raw reading of the diameter
of the tube to the appropriate number of decimal places, repeat their raw readings of the diameter, set

up the circuit the right way round, work out a proportionality constant to verify a relationship between the
resistance and the number of turns, and describe clearly the limitations and improvements specific to this
experiment.
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Paper 31 Advanced Practical Skills

Specific comments
Candidate A

In this experiment you will investigate the resistance of a wire coil.
(a) You have been provided with a coil as shown in Fig. 2.1.

leads with 4mm

plugs as contacts |
\ i

insulating
tube

Fig. 2.1 C)

(i) Measure and record the diameter d of the i ting tube.
Pramete/ o6t e Lasulapng \5&//14
] 2 e e
v. 042 6041 63 0.0412
gz o 02 0FL m
(ii) Estimate the percentage untertainty in your value for d.
pe/(eAfaJc rewaty - é_o{ x 100
P
< o0.00l| X/Do ;232%
0.942
percentage uncertainty = ...... 238/’ .................................
(iii) Use your value from (i) to estimate the length x of wire in a single turn.
X = 2 i f"
: i.)\ (7)
=)L x0.042 X= i 0‘/33 ......................... m
- 0.)32Z M

This high grade candidate understands the need to repeat their raw readings of the diameter and measures
to the nearest mm. They are able to estimate the length of a single turn using 2xnrin their calculation.
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Paper 31 Advanced Practical Skills

(b) Set up the circuit as shown in Fig. 2.2, and hold the contacts against two positions on

the coil.

leads with 4mm plugs
as contacts

Fig. 2.2
(c) (i) Measure and record the number n of turns between the contacts, voltage V and

current I .
N= . l .........................................

V= o, 100N e,

I= . ?.t..z.f..’f'. ...............................

1 5.26A
Rz 3B Tl
(iii) The resistance per metre i of the wire is given by
R
H=—
xn
Use your results to determine a value for p.
p=k
xNn
- 3940 '
(o132 X1)M Y= A
- 298 am!
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(d) Repeat (c) for a different value of n.
n Viv T/x
Vv, Vi VKMJ!/ I (59 [AMJL

/-3 73 /-3

012 0./2 0./Z

=

\)
—i\<

i}
ol\e
S
> <

&
©
)

m =K
xn

> W I= .G A ()O ................

Rk
P { ........................................
@ortional to n.

-1
- 7330nm
(e) Explain whether your results support the idea that
wreAttge Acthreate

=) W =3 ‘

K%V\/ " K:\\IL@C) betwten v and K 2

R =Kka .g\ _ w . 162

K = 3 K2 & 3%
n L = 2635

Brom Mot rtyaM Moo peny ment, b shads Tat Xy
opactemal s i e camdelbat CondAa kK fo.
L vern e ey almonrk e Sanme dad fnens...
247508, hkaal s dmah, so RS consvdecd e,
Y o N o2 % O 2 A ————

This candidate measures and records n, Vand I to good effect and uses these results to calculate R and
u successfully. This candidate is able to go on to achieve a high standard by explaining whether there is a

relationship between R and n by working out a proportionality constant first.
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Paper 31 Advanced Practical Skills

Candidate B

In this experiment you will investigate the resistance of a wire coil.

(a) You have been provided with a coil as shown in Fig. 2.1.

leads with 4mm
plugs as contacts |
\
1

insulating
tube

Fig. 2.1

(i) Measure and record the diameter d of the insulating tube.

5 bom = 0-05bm

(ii) Estimate the percentage uncertainty in your value for d.

least count = 0. 00Im O -00l x 100

percentage uncertainty = .............. ‘879 .....................

(iii) Use your value from (i) to estimate the length x of wire in a single turn.

o =0-050
i camdoranee = D 0170 m

P

20}
T uy
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Paper 31 Advanced Practical Skills

(b) Set up the circuit as shown in Fig. 2.2, and hold the contacts against two positions on
the coil.

Vel S

leads with 4 mm plugs ()
as contacts

Fig. 2.2 @ )

(¢) (i) Measure and record the number n of turns betwe@e contacts, voltage V and
current /.

> .. Q-9
q ........................... A

& e O mA
(ii) Determine the resistance H between the contacts. _
<0446 2 (5 x10°)R

(iii) The resistance per metre u of the wire is given by
R
H=—
xn

Use your results to determine a value for p.

M= %4
O-1Tb x4 5,
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Paper 31 Advanced Practical Skills

(d) Repeat (c) for a different value of n.
V< (&
066 = (32 xo3)R
R = 20625

M = 2062
O 176X 2 N i

(e) Explain whether your results support the idea that R is proportional to n.

XN RN
Qgﬁxﬂ QcL&XV\

: ke
kK
~ 5 Lx 017k k558/(oxo-'7(o
Corstant k. g QLIL = 103

This candidate achieves a high grade for taking results, calculating percentage uncertainty, circumference, R,
u and confirming a relationship between R and n using a proportionality constant. However, this candidate
fails to repeat their raw results of diameter in (a)(i).
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Candidate E
This candidate has gained credit for taking measurements of n, Vand I and for working out R and u
correctly. However this candidate falls short of higher marks owing to the following points:

in this experiment you will investigate the resistance of a wire coil.

(a) You have been provided with a coil as shown in Fig. 2.1.

leads with 4 mm
plugs as contacts |
v 1

insulating
tube

Fig. 2.1 \
(i) Measure and record the diameter d of the insul %ge.

AN
c§i ........... 0Ol .

(ii) Estimate the percentage unce&n your value for d.

e fo¢ak
I x (O3

Ol <%
percentage uncertainty = % ...... 2 §°

The candidate fails to measure the diameter to a precision greater than a centimetre in (i) d = 0.04 m. The
candidate is provided with a ruler with a millimetre scale so should be able to write their readings to the
nearest millimetre e.g. d= 4.0 cm or d = 0.040 m. The candidate fails to repeat their raw readings of d. d

is expected to be repeated in different directions as the tube is not assumed to be a perfect cylinder. This
candidate then goes on to calculate x incorrectly in (iii), x = 0.04 which is the same as d and no calculation of
x = nd is present.
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Paper 31 Advanced Practical Skills

(b) Set up the circuit as shown in Fig. 2.2, and hold the contacts against two positions on
the coil.

N el

leads with 4mm plugs
as contacts

Fig. 2.2

(c) (i) Measure and record the number n of turns between the contacts, voltage V and
current /.

(ii) Determine the resistance R between the contacts.
VW6 =

R 5/%:—- - :‘6'—60\7 R= o) ‘ 62 ..........................

(iii) The resistance per metre y of the wire is given by

R
lj:.._._
xn

Use your results to determine a value for p.

= 16.2

ez Xt
Q- ol
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Paper 31 Advanced Practical Skills

(d) Repeat (c) for a different value of n.

Q: *\;_I'_\‘_g___ :2“
OO
,/\¢ 2"\ c33€
e XS

0Ol

(e) Explain whether your results support the idea that R is Qo onal to n.

O

..........................................................................................................

The candidate sets up their circuit with the battery in the opposite direction as I and V values are negative,
so the candidate fails to gain full credit for the measurements taken. In (e) the candidate explains that as n
increases, Aincreases, hence u increases so R is proportional to n. The candidate has not realised that if Ris

proportional to n then p would in fact be constant (i.e. ux = k, the proportionality constant if R is proportional
to n) so fails to gain credit.
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Paper 31 Advanced Practical Skills

Candidate A

(f) (i) State four sources of error or limitations of the procedure in this experiment.

(ii) Suggest four improvements that could be made to the experiment. You may suggest
the use of other apparatus or different procedures.

1. Jadle... 1008 (oeAenns oot insloes S wind ) w andd

This candidate achieves a high standard by stating in detail three sources of error for this particular
experiment: two readings are not enough to draw a valid conclusion; length of wire per turn on insulating
tube may vary and difficulty in holding contacts against the coil causing the ammeter and voltmeter to
fluctuate.

In describing solutions the candidate is credited by suggesting to ‘take more readings on the number of
turns n and resistance R and plot a graph’ and ‘use a vernier calliper to measure the diameter'.
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Candidate B

(f) (i) State four sources of error or limitations of the procedure in this experiment.

M0V ACCUY,

(i) Suggest four improvements that could be made to the expeyi
the use of other apparatus or different procedures. 0

...... ........ AN ‘\J :‘\.S-:.Cﬁvi ..... bﬁ;..
B N

Credit was awarded for ‘Tiumber of readings to determine the proportionality were not enough’ and ‘the
values for I and V kept fluctuating’. The candidate, however, loses credit for not explaining the errors or
limitations and solutions in enough detail. For instance, credit was not awarded for ‘the diameter could not
be measured accurately due to unstable paper’. If the candidate refers instead to the diameter being non-
circular or the need to take repeats in different directions then credit can be awarded. Credit was also not
awarded for ‘the coil had a limited number of turns therefore only a limited number of readings could be
taken’ which relates back to their first credited source of error and so cannot be credited again.

In suggesting improvements, the candidate is awarded credit for ‘a wider range of readings can be taken for
Vand I and hence a graph of R verses n can be drawn! The candidate’s suggestion of a ‘bigger coil’ and use
‘different thicknesses’ changes the nature of the experiment and both solutions do not describe how these
are improvements to the current experiment so fail to gain credit.

Often candidates lose out by suggesting changing the nature of the experiment. Instead they should be
specific to the experiment and state how to improve it.
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Candidate E

(f) (i) State four sources of error or limitations of the procedure in this experiment.

o The.. eswalnd th*éd/rdaﬁ%‘tjw& ..... exack
\'Q/\U’\ ok V) WCO‘L .................

(ii) Suggest four improvements that could be made to the experiment. You may suggest
the use of other apparatus or different procedures.

\. < cove. dbovohey cod b ke
o R({@&@A& Se Wed To cho. the

This candidate fails to gain credit for most of this section as their sources of error and solutions lack clarity and
detail specific to this particular experiment. For example, the candidate states ‘the estimated value of x doesn't
give exact length of wire in the coil’. This statement is true but does not describe the source of error. The
candidate needs to say that the coils are not circular i.e. they are helical or x is different to nd to gain the mark.

Another example is that the candidate states ‘delay in reading value of voltmeter would change (the) value of
(the) experiment’. In order to gain credit, the candidate needs to say that the readings are fluctuating either
because the experiment is difficult to hold or that there is contact resistance. The other sources of error do
not relate specifically to this particular experiment.

Looking at the stated solutions, the candidate does gain credit for stating to use a ‘vernier calliper’ to give
a more accurate value of d. However, the candidate fails to gain credit for stating that ‘the coil should have
more wires so that a larger range of values could be taken'. The candidate can gain more credit for stating
that two readings of n are not enough and then for stating that more readings of n are required, and plot a
graph of nagainst R (therefore more turns are needed).
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Paper 4 A2 Theory

Question 2

General comments

Candidate A
The correct answers to all the sections are clearly provided.

Candidate B
A very good set of answers with a clear understanding of the physics involved. The candidate made just two
minor errors, the second of which was a common error on many scripts.

Candidate E
This paper is typical of a grade E answer, where the candidate has some understar@( the basic physics
involved in answering the question but is unable to give much of the extra detail@u ed.

O

Specific comments

<
(a) Define specific latent heat of fusion.

Candidate A 0&

...m.c..(.b.mj...]zmlm..t..............@, ..................................................................... 2]
Full marks awarded with melt unit mass accepted, although the examiner would have liked to
see convert unit mass of solid to liqui s melting point accepted as equivalent to without a change in
temperature.
Candidate B

CHOVT

Full marks for a complete definition.

Candidate E

A common error with grade E candidates who do not realise definitions must be general and not specific to
one set of units. One mark lost for the use of 1kg.
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Paper 4 A2 Theory

(b) Some crushed ice at 0°C is placed in a funnel together with an electric heater, as shown

in Fig. 2.1.
joule- ¢ °
meter " supply
crushed ice
- heater
funnel
beaker

Fig. 2.1

The mass of water collected in the beaker in a measured interval of time is determined
with the heater switched off. The mass is then found with the heater switched on. The
energy supplied to the heater is also measured.

For both measurements of the mass, water is not collected until melting occurs at a
constant rate.

The data shown in Fig. 2.2 are obtained.

mass of water energy supplied | time interval
/g to heater / J / min
heater switched off 16.6 0 10.0
heater switched on 64.7 18000 5.0
Fig. 2.2

(i) State why the mass of water is determined with the heater switched off.

Candidate A

............................................................

can be calculated .

Full marks as the candidate correctly identifies the reason for collecting water when the heater is switched off.
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Paper 4 A2 Theory

Candidate B

No marks for this answer. For the mark to be awarded, some reference to the need to measure the amount
of heat gained from the surroundings is required.

Candidate E

No marks for this section. This is again a typical answer from grade E candidates=<vho know the question has
something to do with heat from the surroundings but are not specific a@hew the information is to be used.

(ii)) Suggest how it can be determined that the ice is melting at @ tant rate.

N

wueAMalrcmcc(wafé/)d@(ﬁﬁ«elam/zefff:wkgwbc
cn e bcx

Fonad oy contigns! /ywu@ Tt ML I wptefan ] Foe 1]

aeS comslaat

Candidate A

vate of tACvease OF Mﬁfé
Full marks as the candidate correctly@s at it is the rate of increase of mass which must be constant.

Candidate B

The.moss et miodw 5 cdlictid ot Ao, A
T o LAYV Y/ a\"?%’mjf\ﬂdﬂm&\f{d’\m 1]

\6 conbe calcult

The candidate gains the mark having been given the benefit of doubt with the answer written having talked
about the mass of water collected in a constant time interval from which the rate can be calculated. The
candidate could have added that the rate must be constant although it is implied in the question.

Candidate E

The statement mass collected in a specific lapse of time gains one mark. However, it is not clear from this
simple statement that the measurement is repeated and resultant masses collected should be constant.
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(iii) Calculate a value for the specific latent heat of fusion of ice.

Candidate A

Heat eaeqy Sapplicd pom fre heafe~, @z = (§000J.
(w 5 /vu/\vkaJ MmalsbFice ne W/Wmﬁa hee fe, -

suvhiked off = %.Zj

@ =mL

L - Q/M
- \§oo0 -3
g /64 3- s%)xw

o latent heat = ...l 7o kJ kg™ [3]
3.1 x10%] kg

=319%Jkg 7" (3sf)

Full marks for a correct calculation of the specific latent heat of fusion of ice to a suitable number of
significant figures. The candidate clearly noted the difference in times for the measurement with the heater

off and on.
Candidate B
H=mbly
IR0 5((,4. 7- l(,.(o) Ly
L\/ . IRoo
(4.7- /(,.e)xzo‘3

574 2 kj Q latent heat = ........... 374’ ............. kd kg™ [3]
~ 3 kT l<

The candidate loses one mark making the common mistake of missing the different time intervals for the
collection of water with the heater on and off, but then performs a correct calculation using the incorrect
value for the mass of water collected with the heater off. Candidates are advised always to look out for such
differences. This calculation requires a further two conversions since the mass of water collected is quoted
in g and the heat values supplied in J. The answer required has to be given in units of kJ kg™ . The candidate
realises this as the mass collected is written in kg in performing the calculation and there is a correct
conversion to kJ in the answer.
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Candidate E

Q: M\(:
(,p =& - 13000 - 2382
" 6L-3

latent heat = ......... 2—9’82 .......... kJ kg™ [3]

The candidate makes three mistakes. The first two marks are lost for not taking @@bsorbed from the
surroundings into account, and the final mark is lost for not realising that theelj need to be converted
into kJ and kg; see the grade B candidate.

&
S

&0)

L g
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Paper 4 A2 Theory

Question b

Two deuterium (f H) nuclei are travelling directly towards one another. When their separation
is large compared with their diameters, they each have speed v as illustrated in Fig. 5.1.

_v . Y
deuterium O O deuterium
nucleus nucleus

Fig. 5.1

The diameter of a deuterium nucleus is 1.1 x 1074 m.

General comments

Candidate A
A very good answer to this question with only one minor detail missing in (a).

Candidate B
This is typical of a grade B candidate where the candidate finds the non-standard question in (a) difficult but
can perform the routine calculation in (b) with little difficulty.

Candidate E
Many candidates providing grade E answers were unable to start (a) but made some attempt at the more
standard section (b).
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Specific comments

(a) Use energy considerations to show that the initial speed v of the deuterium nuclei must
be approximately 2.5 x 108ms™1 in order that they may come into contact.
Explain your working.

Candidate A
R KE = 5 Mmv?
4L Eor
wD =KE
2
‘F)T(?.8()(/0"‘)([.//(/0"”) &
3*"612)(/0’“" :1347‘/0'1}\/7‘ O
Vv =z /2'0‘/3)(/0'/9‘ - 2.5 X/O‘mj‘"()
- 3.3 X lo-*7* -

*
The question asks candidates to explain their working, and this ca idaé clearly states there is a link
between kinetic energy and potential energy/work done. Howeyventitis is not sufficient as it is important to

state that it is the change in these two quantities which is I@ d so the candidate loses the first mark.
The rest of the calculation gains full marks. C)

Candidate B \ @

&wmohwmﬁkmmmv55xmﬁm
Ek ‘ém\/l &M;‘U of nuclius 4/3‘\1‘ \(3

L g

(3]
There is nothing written in this section that is worthy of any marks.
Candidate E
Jz‘n‘l 2

Nothing mark-worthy in this section.
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(b) For a fusion reaction to occur, the deuterium nuclei must come into contact.
Assuming that deuterium behaves as an ideal gas, deduce a value for the temperature
of the deuterium such that the nuclei have an r.m.s. speed equal to the speed calculated

in (a).
Candidate A
prg ML LY W
gi;:zg)y = nRT 7»»09:“10"‘*:4./4)(/(;'“,—
L) SnRT = 3 WkE LT 504 x/0fK

L () (axierxio™) (25 x/0%) 2L 3 (2)(1-38x/0723)T
2

- &
temperature = ....2:. 04 X {07 . K [4]

Full marks for this section; the candidate states the correct equations to use and performs a perfect
calculation.

Candidate B

Ey =%, kT
; 2
5 X267 )0 (a5 x 10" = Yo% 1138 <1672 T
D 1 -5.0%x/0°K

temperature = ........ 50)(/08 ......... K [4]

The candidate performs this routine calculation correctly, realising that the answer given in (a) needs to be
squared. A common error was that candidates forgot to square the value given (a).

Candidate E 2
1\ SyT -4t T x(lx\*ex\o’zﬁx(lfxlo")
¢ T2 o T \-33 x10™%
6

T: 'Zq 7((0%

temperature = .......&.. L 0 K [4]

The candidate knows the equation to use, although includes a V* rather than <c¢*>. The candidate then makes
a further two mistakes. The first is to write that deuterium has three particles in the nucleus; the second
is an arithmetic error in calculating the answer. The use of 1.6 x 10? rather than 1.67 x 10? is ignored. One

mark awarded.
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(c) Comment on your answer to (b).

Candidate A

tmgﬁ/kbﬁ.ﬁé.ﬁ&.ﬁ?ﬁi.f?%.bﬁjf«&!ﬁufc.z{.u.\.Q.C?{(.Qe{/px..ézﬁk.hfxff. .......... ]
nielel (opce cafr cmhe t.

The candidate realises that an extreme high temperature is required and gains the mark, although the
examiner would have preferred it to be linked to the previous answer. A common error in this part of the

question. &

Candidate B O
7&%04«@,«@{\/«&&@\/&'5\&@

Full marks as the candidate realises that the temperature is vergge. Again, it is not clear the candidate has
made the link with the previous section.

Candidate E

The candidate has some idea of the physics of the problem by talking about a lot of energy is required but
does not relate this to tempegaitsk ‘or the answer calculated in (b).
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Question 7

General comments

Candidate A

Overall an excellent answer from this candidate with just the answer to (b)(ii) requiring some clarification.
Section (b)(ii) produced very poor answers from a majority of candidates.

Candidate B
Some very good responses to the descriptive sections, but this candidate made some simple errors in the

calculation in (c)(ii).

Candidate E
The candidate shows a very basic understanding of the photoelectric effect and the nature of photons, but is
unable to relate this to atomic spectra.

Specific comments

(a) State three pieces of evidence provided by the photoelectric effect for a particulate
nature of electromagnetic radiation.

Candidate A

1. Tlae ot b e i e fotquea y LOne/adld frtquoency,) 4 oo bx...
(A ALSLTCI rmaaner.

pudoelechit efice Foconsd, Tuvs sndS ot fue caeayd duibionfcd

2. Tht.Rndtetniab.coneocalced by sccaking fae sakean by S FacdaNg,
thaosiag Sea omort elechammlace b\l dasvenmoc. phelons agaacieal
Skopring poteatis| (nteas

‘;
3. Tk\ewCamé’t%t/\évc’«[chymcvmm_jWLMbuf‘oy

rA(taiag Mg, Mﬁ%ﬁr.\c)y. bt S et e sraxioanem brae 8t eaecs .
of phdteald (scadepenctent o fre l«'/tk/\.!l'/*\/ 13]

There are five pieces of evidence the candidate could include, and maximum marks are awarded for any
three. In this case the candidate correctly identifies three out of the five possibilities.
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Candidate B

Three correct pieces of evidence for full marks.

Candidate E

1. Ernisien of G\W doess L

............................................................................................................................
.............................................................

place at all? The thres quency mark is gained. The final example is just a statement of the particulate

The candidate nearly has the fi fece of evidence correct but needed to clarify the term emission. Does
the candidate mean rate qf sion or does the candidate mean the condition for the emission to take
nature of light, not a piece of evidence for the photoelectric effect.
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(b) (i) Briefly describe the concept of a photon.

Candidate A

....... 0bin g T PEAILLLY s [2)

The correct description of a photon as a quantum of electromagnetic radiation is given. Full marks awarded.

Candidate B

The correct link between packets of energy and electromagnetic radiation is stated. Full marks awarded.

Candidate E

Full marks awarded for the nature of photons.

P

PN A9
A\

0
Y

20}
T uy
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Paper 4 A2 Theory

(ii) Explain how lines in the emission spectrum of gases at low pressure provide
evidence for discrete electron energy levels in atoms.

Candidate A

ypectrre
.. Inese. pe.. condob s locisul nel aganit a cdasK..........

h \
4540050 ALBY LA ALIAUL AN 0L B ILEKCHEA, ... 2]
Iw\(ef"?’\h,\e\/ velaxvack ko fuiecr J/a\MA R /e/ Me)/

ermit ght va a Aucrti Maanes, $
In this section, the candidate does not link the bright lines observed to the e Is in the atoms. Full

ner
marks would have been gained had the candidate linked the statement abou@/mes to the photons
having particular energies. The second mark requires the statement that the rete energies are generated
by transitions of the electrons between discrete energy levels in the a@. They emit light in a discrete
manner is not a sufficient answer. No marks awarded.

Candidate B 0

fhe e ove disknet, K \wmmw

(ot of discuck...

The candidate talks about absorption when the question asks about emission. A common error with weaker
candidates. The link between the lines and discrete energy changes is not made in the answer. No marks
awarded.
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(c) Three electron energy levels in atomic hydrogen are represented in Fig. 7.1.

increasing
energy

Fig. 7.1

The wavelengths of the spectral lines produced by electron transitions between these
three energy levels are 486 nm, 656 nm and 1880nm.

() On Fig. 7.1, draw arrows to show the electron transitions between the energy levels

that would give rise to these wavelengths.
Label each arrow with the wavelength of the emitted photon. [3]

Candidate A

increasing

energy
Lf% 64\0’\ C S 6 A

Fig. 7.1

Three correct transitions labelled on the diagram with arrows to indicate an emission spectrum.
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Candidate B
A
\L 1RO N
increasing
energy l{'génw\ QSL M
A correct diagram is drawn; full marks awarded. @

Candidate E O
\ <

1 Wbam @ N
increasing \>\

energy AN
b | \€50nm
<

ése; L gogh
By

The three energy changes are drawn with t arrows, but the wavelengths are not attached to the

correct transitions. Two marks awardeds
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(i) Calculate the maximum change in energy of an electron when making transitions
between these levels.

Candidate A AT =Wc
AN
S MARE MM Chaaqe L/\Elkefﬁy occinet S A ﬂ?\ B}

VALAL muM

:) Aa :%XCV\M

NE=WhXC :GLSK!O_ny leo‘ = 4.07;(/0’/7
DD 4gbx (07 |
energy = ..o 4067(/0—/7 ...... J [3]

A correct solution to the numerical part of the question. Full marks awarded.

Candidate B

" -ty
Ml%d\@@ kc _ hc
)‘\ /\
(6 L3 x/o > x 5)(/&)(%(,)(/0 KQQXIO)

=303 x0T
energy = .......... 503)(10"?.1 (3]

The candidate correctly gives the basic equation relating energy to wavelength, but is then confused about how
this relates to the wavelength values given in the question. There is confusion with the equation E,— E, = hc/A.

Candidate E
F-€-€, - F(E-€)

) %,F'\s %Jf@tﬂ/w\
q = ] €,-¢, '\5[0.,3@

- Fmr‘!\
\¥X0 x b:63x o energy = .....\ 2hoxl0 T J3]

The first line of text requires the correct substitution of 4 and ¢ to gain the first mark. The candidate then
makes the fundamental error of thinking that the maximum energy change is associated with the largest
wavelength. No marks awarded.
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Question 10

General comments

Candidate A
An excellent answer to this question, demonstrating a clear understanding of the physics of operational
amplifier circuits with two minor omissions.

Candidate B
A very good answer to this question with similar answers to the grade A candidate except for two points

missed in (a)(i) part 2 and one major mistake in (a)(ii). Exam nerves?

Candidate E §
A typical answer from a grade E candidate showing a limited knowledge of the @i involved in
operational amplifiers, but unable to provide any of the mathematical detail r@r

Specific comments @ .

(a) The circuit for an amplifier incorporating an ideal operational @Nﬁer (op-amp) is shown

in Fig. 10.1. ) Q’\
—I:l——@

A, . +9>b'\

Vin -V Vour

o]

Fig. 10.1

(i) State
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Candidate A

1. the name of this type of amplifier circuit,
VRN A R AMPMWREL s [1]

2. why the point P is referred to as a virtual earth.

Tnt Curatdlan Smgia Ra v €414l [ fhe cusigathormgh . )

(M\AS fisSat virbwaleoc 1.
1. Full marks for a correct identification of the circuit.

2. There are three independent marks for this section. The candidate scores two of them but misses the
very important point that they only apply and make P a virtual earth if the open loop gain of the amplifier is
very large and close to infinity. A point missed by many candidates.

Candidate B
1. the ngme of thisftype of amplifier circuit,

NN Ly, mpih

1. Full marks for a correct identification of the circuit.

2. The candidate picks up one of the three marks in the next section for stating that the non-inverting input is
earthed. The other two points relating to an infinite gain and the amplifier not saturating are missing.
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Candidate E

1. the name of this type of ampilifier circuit,

T

O il Vo biny . eonesled b P rust be O 1o and
N CCP&Y(G\ s vutial QW“ ........... [3]

Just one mark gained in this section for a correct identification of the type of@@er circuit.

*
(i) Show that the gain G of this ampilifier circuit is given by the exp es@

R
G=- __2. . 0
& &
Explain your working. C)

Candidate A \

4%\4 R, =cwre/\t'7‘1wjt\«rm3k £~

Kwe cwn/reat flows T

ViA - Vo

[4]

Three independent marks for this section. Again the candidate scores two, missing the important point that,
for the current in R, and R, to be the same, the input resistance of the amplifier must be very large. A point
missed by many candidates.
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Candidate B

Vont =R, Wleie T = cwiwnd In Glout |

N (~n = IR, ;e s\“nu_if(; ,
DR=Vo = IR, = W\deff\ 'S
- 2 ""'% ’ Cowy anad ‘P(SL

\f T10 2 A /
1L, | V\omrwfifzj {h‘)w% S
Qo ]

Nothing mark-worthy in this section as I = the current in the circuit is not sufficient without an identification

of which current is being referred to. The answer is also missing a statement that the input resistance of the
operational amplifier is very large. The mathematics that follows is thus meaningless, and also a minus sign

crossed out in the second line text suddenly appears in the last line!

(4]

Candidate E

[4]

There is no identification of any current flowing in the circuit so the written equations are meaningless.
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(b) The circuit of Fig. 10.1 is modified by connecting a light-dependent resistor (LDR) as
shown in Fig. 10.2.

—
R,
—
R, \‘iv
o——— 1 -

Vin=+1.2V -9V Vout &

Fig. 10.2 @ ’

The resistances R, and R, are 5.0kQ and 50kQ respectivel,g
The input voltage V) is +1.2V. A high-resistance voltmeKr:\ sures the output Vi 1.

The circuit is used to monitor low light intensities.

(i) Determine the voltmeter reading for light i@ities such that the LDR has a
resistance of

Candidate A

-

1. 100kQ,
g avw ,ﬁ

reading = ............ S TR V(3]
2. 10kQ.
. B f | .
suin 4§ = (Scx[o:" +\o>(/o’)
S0 x(o3
= -5
3
Vvaml = _ S Vin
,3( )
- -2 (12
2
- -zv (OAING = wovoreresZeeoeeeeeereesrreeseree V2]

A correct calculation of the two voltmeter readings gains full marks.
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Candidate B Q
1 .
Coin = (@@w )4 Vo
1. 100kQ, = =
Qsidanes of LD Ov-—ilL— L, R, A
L . L + -
& " T0ox0® Tsoxo0® Vo TRV,
Q_r = 3233 L
€ading = oo RO V(3]

2. 10kf23’.£\ d‘ L)QQ,,_& Q ﬁ»f
A dol St 2 B} %
el e 05T - - (2
D o oxI0>  BOX|03 ‘ \

Vo333 ).,

Ry ZR2DDL- 5-0x0°
reading = ............ -go ................. V(2]
Full marks for two correct solutions.
Candidate E
1. 100kQ,
%% < 12 v=100 2
|00
/' Moo V5o
Logo
7 - e
reading = A\ “z.. =BT (3
2. 10kQ.
)/ V- 1o .12
(2 ()
=08

=\00

reading = ....... B 9.:% ........ V(2]

Nothing worth any marks in this section. The value of 100 used in the one line of mathematics does not
relate to any values given in the question.
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(ii) The light incident on the LDR is provided by a single lamp. Use your answers in (i)
to describe and explain qualitatively the variation of the voltmeter reading as the
lamp is moved away from the LDR.

Candidate A
wwla fue lamp ineas totne LOK , hag ct fvikance. on it LOR .
{owd
18 et se e masmdnde.ed. g velbasedernt adeng sl

The candidate clearly states what happens when the lamp moves away, the ligh ecreases, and

continues to explain how this leads to an increase in the output voltage. Full

VoLtmefwl/mMAﬁfmwmcrwa¢[3]
@9 sity d

Candidate B

’

\{owkbuﬂwslq@/Asbmei

lahd ynensiry allio ot
nasan. & C]LD\Q“«\Q/« O

M\[O\A’ ..... bQOﬂ ..... NN ottt e

............................................ %[3]
Full marks for this section with the &e clearly linking the reduction in light intensity with a decrease in
the resistance of the LDR.

Many candidates lost this m
no reference to the LDR

§tating that as the light intensity decreases the resistance decreases with
total feedback resistance.

Candidate E

Two marks awarded in this section, as the lamp moves away the light intensity decreases and benefit of
doubt given for the resistance across the LDR is high. The candidate does not state what happens to the
voltmeter reading.

Page 71 of 100
Cambridge International A & AS Level Physics 9702 Standards Booklet.

www. yout ube. cent negal ecture



Paper 4 A2 Theory

Question 11

General comments

Candidate A
An excellent answer to this question with the candidate showing an extensive knowledge of both X-ray
techniques and CT scanning.

Candidate B
The candidate indicates a good knowledge of the difference between the two imaging techniques, but
misses some detail on the principles involved in CT scanning.

Candidate E
This candidate shows some basic knowledge of CT and X-ray imaging, but the answers lack detail.

Specific comments

(a) Distinguish between the images produced by CT scanning and X-ray imaging.

Candidate A

VNEJOL QAR fratd XY venkging 26 K Adteaditanl bael Loty

The candidate realises that the difference between the two systems is that one produces a 2D image and
the other a 3D image, but misses the point that the 3D image is constructed from sets of 2D slices.

Candidate B

X= w0000, vt Z- dimunsoral . CT scan. Caah shas
& 4o Deda % ehon ..,.Qnd.buikh.u@... 9SS on O

Gov»g:th;/ ....... podate.o.. 3zdmusional ooge ...
Wi cantlisn b Yotakd around v S 3]

An excellent answer gaining full marks. The candidate realises that the CT image is constructed from a
series of 2D slices, a point missed by many candidates.
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Candidate E

() The..dnanp..p f dned by CT Sean.is.. 38 e for.....
RN SN 4 S
() The..esp.. gc’swmsﬂaea(mn .................. «g.(e ....................

&3) ................................. T Cnde ot improved b win & comp i
v\s‘v\\e for K-y @ élwr;nab \) o 5

The candidate knows that the CT scan produces a 3D image and the X-ray scan a 2D image, but fails to state
that the 3D image is constructed from 2D slices. @

(b) By reference to the principles of CT scanning, suggest why CT scannin @ not be
developed before powerful computers were available. t’

<
Candidate A @

0(]\ a. bo,\ LD E /O\yfd LA\:@L\AMAj aAﬂ(/f»JG««WA(’Sd}—
m{m///\w’mMaﬂo%Mﬂ@Z(Mf”ﬁ/fﬁMtoM‘»ﬁéJMO#

nese slice s2pm v mased ..a/.‘z.‘s...M...Z..:MMMJCM.@.l.L'A:\.ij.e,...‘.v.\.d..
MaMakaMah61a&(ca(a/»mJonvﬂvedmf‘«uﬂ/ﬂzwc!
.Y.(.[)l.af.(—.ﬂ.’.k{\... NN Ot parC L L Lo pan S B Las e PLRLEAL. ... [B]

fuenvast a sd}p(@m(:/\f(/\((/\,ﬁl«r?k\/.

This question is in two parts requiring the candidate to explain the principles of CT scanning followed by

a reason why computers are required. This excellent answer from the grade A candidate gives just the
required amount of detail to gain four marks for the principles section and then clearly states why computers
are required, to process such vast amounts of data.
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Candidate B

ot yLoua 0 B s flmal 3D move,
W'\ﬁo\\ %W\Q/\‘h/‘fb OVl J&O\\A{( W6 CT &Onmb.

It is clear from this answer that the candidate understands the principles of CT scanning, but the answer
provided lacks detail. The introduction of the term voxels, often referred to by many candidates, is of little
use without a statement which specifies how the intensity in each voxel is obtained. /t scans from a large
number of angles does not give enough detail as it requires an initial statement as to what scans. In using
the term these in the next sentence it is again unclear whether the candidate is referring to the intensities or
the slices described in the previous sentence. With just a little more precision in describing the process, this
answer would easily gain full marks. Two marks are gained for the reason a computer is required and how a
3D image is obtained.

Candidate E
() There...sa. 0¥ HeAdtnthe o
TIRUIRY -y R :
Corig... e w&ep 0 /\efn S N o -V R

@) NJ”\{OW@ Compulis, e can neasel o alask
Yo oo _mare_ defaily o & wprove. The.iooase

A mark is given for the information that the computer is used to combine images to form a 3D image. The
second statement needs elaboration to gain a mark; more detail is too vague. As an example, more detail
could be that the image can be rotated.
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Paper b Pianning, Analysis and

Evaluation

Candidate A

The candidate appeared to complete the question paper in the time available. The candidate scored highly
on both questions. Marks were not gained in Question 1 because of a lack of detail. In Question 2, a mark
was lost because of a power of ten error on reading information from the graph, and the final mark was not
awarded. It was pleasing to see that the plan was logically written.

Candidate B

The candidate appeared to complete the question paper in the time available. The candidate gained
reasonable marks on both questions. Marks were not gained in Question 1 because of a lack of detail and, in
Question 2, marks were lost at the end of the question where careful attention to detail was needed. It was
pleasing to see that the plan had a very good diagram.

Candidate E §

The candidate appeared to complete the question paper in the time available. T)—Q idate scored low
marks on both questions. Marks were not gained in Question 1 because of agdc detail and disappointing
diagrams. In Question 2, the candidate did not score marks on the analysis settions, which is a common
trait in weaker candidates’ scripts. @ .

Question 1 .

A student wishes to investigate how the resistance 13-0f a light-dependent resistor varies with
the distance d from an intense light source. K

It is believed that the relationship betwe@and dis

= kd"

where k and n are constants

Design a laboratory ex
has a resistance of
falls on it.

nt to test the above relationship. The light-dependent resistor
when it is in bright light and a resistance of 500kQ when no light

You should draw a diagram showing the arrangement of your equipment. In your account you
should pay particular attention to

(a) the procedure to be followed,

(b) the measurements that would be taken,

(c) the control of variables,

(d) how the data would be analysed,

(e) any safety precautions that you would take.
[15]
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Candidate A

Diagram
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The first part of Question 1 requires candidates to draw a diagram of the arrangement of the equipment.
The candidate’s diagram scored full marks. The diagram was labelled clearly and correct symbols were used
for both circuits; it was also neat. The candidate clearly indicated both the distance that was to be measured
and how that distance was to be measured with a ruler. In this case the candidate used an ohmmeter
correctly; a common error would be to include a power supply or battery in the ohmmeter circuit.

There is then a page and a half for candidates to write a description of their plan. This candidate begins
sensibly by defining the problem by correctly identifying that the distance is the independent variable and
the resistance of the LDR is the dependent variable, gaining both P1 and P2. It is clear from the response
that the candidate understands the problem. It is expected that candidates will identify variables that need
to be kept constant so as to enable a fair test to be made; again the candidate indicates clearly the need to
keep the intensity of the light source constant, gaining P3. Weaker candidates often refer to ‘controlling’
variables which does not gain credit.

In the text the candidate clearly indicates that the resistance of the LDR will be measured with the
ohmmeter. Other good candidates would discuss calculating the value of resistance from the reading on

a voltmeter and ammeter for this mark. The candidate gained an additional detail mark for the method of
keeping the light intensity constant by using a constant emf and waiting for the bulb to heat up to a constant
temperature. Other good candidates often went into detail about how the light intensity would be kept
constant, e.g. adding a rheostat and ammeter in the circuit containing the lamp and adjusting the rheostat
so that the ammeter reading (current) is constant.

A further method mark was awarded for the candidate’s realisation that the experiment should be carried out
in room with the lights turned off and the curtains closed so the only source of light is the bulb.

There are two marks available for the method of analysis. The candidate initially indicated that values of

log R and log d would be recorded in the table, before scoring the A1 mark for a statement that a graph of

log R (y-axis) against log d (x-axis) would be plotted. Having suggested an appropriate graph, the A2 mark in
this section is awarded for the correct identification of how the relationship suggested would be confirmed;
the candidate’s wording of this section was very clear — “if a linear relationship is seen (i.e. a straight line)
then the hypothesis is confirmed” This candidate also scored an additional detail mark for correctly identifying
both the gradient and the y-intercept from the logarithmic equation that the candidate has clearly indicated.

The candidate scores the safety mark since the hazard is stated “bulb may get very hot” and a suitable
precaution is given “heat insulative gloves should be worn" The candidate also suggested that the bulb may
be ‘overbright” and thus sunglasses should be worn — this would have gained credit since the candidate had
identified the hazard (intense, bright light) and suggested a safety precaution. Valid reasoning is required for
the award of this mark. A more general precaution of switching off the power supply to prevent heat in light
bulb, resistor and LDR did not gain credit.

The end of the candidate’s plan did not score any further marks. The use of short, thick wires for making
connections is not specific to this particular experiment; the obtaining of a large range of values for
resistance applies to any experiment. The candidate was beginning to make a relevant point when
discussing the errors in the measurements at different distances.

This candidate could have gained additional detail marks for determining a typical current in the LDR and
then specifying the range on the onmmeter and by providing some detail about keeping the orientation of
the LDR constant, with a method as to how this could be achieved.
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The first part of Question 1 requires candidates to draw a diagram of the arrangement of the equipment.
The candidate’s diagram scored full marks. The diagram was labelled clearly and it was neatly drawn. The
candidate clearly indicates that the lamp is in a separate circuit to the LDR and the distance that was to
be measured. To determine the resistance of the LDR, the candidate draws an appropriate circuit diagram
including an ammeter and voltmeter correctly positioned; weaker candidates often positioned the meters
incorrectly. The diagram also included a tube which gained a mark for further methods of data collection.
This script clearly indicates the benefit of drawing a good, labelled diagram.

There is then a page and a half for candidates to write a description of their plan. This candidate begins by
discussing the distance from the intense light source. There is some confusion between the letters used by
the candidate and the Question. In the first paragraph, the first mark for defining the problem is gained by
correctly identifying that the distance is the independent variable, with the statement that the experiment

is repeated by varying the length of d. The candidate then discusses recording the&:ta of current and
voltage for different length L. In the second paragraph, the candidate explains hewwtihe resistance would

be determined. It is expected that candidates will identify variables that nee@ kept constant so as to
enable a fair test to be made; this does not occur immediately.

*
In the next paragraph, the candidate tries to identify a variable to keep%stant. The candidate implies
that the power supply to the lamp is kept constant, but credit w. t given since it was not clear and the
candidate appeared to be confused about the LDR and the lam

There are two marks available for the method of analysis@e candidate states that a graph of log R on the
y-axis against log d on the x-axis is plotted. Having s sted an appropriate graph, the A2 mark in this
section is awarded for the correct identification N)w the suggested relationship would be confirmed; the
candidate omitted this part but did gain an add@a detail mark for stating that the gradient would give the
value of n.

The candidate has omitted to detail evant safety precaution related to the intense light source. Valid
reasoning is required for this mark to 0e awarded. The end of the candidate’s plan did not score any further
marks.

This candidate could ha ed additional detail marks for determining a typical current in the LDR and
then specifying the ran n the ohmmeter, and giving some detail about keeping the orientation of the LDR
constant with a method as to how this could be achieved.
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The first part of Question 1 requires candidates to draw a diagram of the arrangement of the equipment.
The candidate’s diagram was carelessly drawn. There was evidence of understanding that the light source
needed to be separate from the LDR circuit. However, the distance to be measured was not accurate and
the circuit diagram (although basically correct) did not have the connections fully made at the ammeter or
the voltmeter. Other common errors made by weaker candidates were to connect the meters incorrectly.
Some weaker candidates connected an additional resistor into the circuit and then connected the voltmeter
across the additional resistor rather than across the LDR.

There is then a page and a half for candidates to write a description of their plan. This candidate begins
sensibly in defining the problem by correctly identifying that the distance is the independent variable and the
resistance of the LDR is the dependent variable, gaining both P1 and P2. It is clear from the response that
the candidate understands the problem. It is expected that candidates will identify variables that need to

be kept constant so as to enable a fair test to be made; the candidate indicates ‘variables to be controlled’
which does not gain credit. A statement stating which variables will be kept constant in required.

In the text, the candidate clearly indicates how the experiment will be carried out. Again P1 and P2 could
be awarded on the basis of the text. The candidate also discusses calculating the value of resistance
from the reading on a voltmeter and ammeter and using V' = IR. A further method mark was awarded for
the candidate’s statement that there should not be any other sources of light in the surroundings, or the
experiment should be performed in a dark room. Either of these statements would have gained credit.

There are two marks available for the method of analysis. The candidate scores the AT mark for plotting a
graph of “Ig R v/s Ig d” This candidate also scored an additional detail mark for correctly identifying both the
gradient and the y-intercept from the logarithmic equation, which the candidate has clearly indicated. Having
suggested an appropriate graph, the A2 mark in this section is awarded for the correct identification of how
the suggested relationship would be confirmed; the candidate’s wording of this section was almost worthy
of the second mark but it missed out “if the relationship is confirmed"

The candidate did not gain the safety mark since the suggestions were not really relevant to the experiment.
It was expected that the safety precautions would relate to the intense light source either being hot or
bright. Valid reasoning is required for the award of this mark. Some weaker candidates list precautions such
as tying hair back, wearing goggles, not handling water, follow lab rules, etc. which do not gain credit.

This candidate could have gained additional detail marks: detail about how the light intensity would be kept
constant, e.g. adding a rheostat and ammeter in the circuit containing the lamp and adjusting the rheostat
so that the ammeter reading (current) is constant; for determining a typical current in the LDR and then
specifying the range on the ohmmeter; or for some detail about keeping the orientation of the LDR constant
with a method as to how this could be achieved. The candidate started making this last point, suggesting
that the LDR should be facing the light source, but more detail would be needed for the award of the mark.
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Question 2

An experiment was carried out to investigate how the diameter d of the path of a beam of
electrons varied with the accelerating voltage V when a magnetic field of flux density B was
applied at right angles to the electron beam.

The equipment was set up as shown in Fig. 2.1.

electron gun \
U

g.2.1
The diameter d was recorded f&rent voltages V.

5
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Candidate A
Values of V and d are given in Fig. 2.2.

VIV d/102m d2/104m?
500 2.1+0.1 4.4 to 4
1000 2.8+0.1 1.6 1 o ¢
1500 34+01 |[n-¢ X 53
2000 3.9+0.1 5.2 2 0.8
2500 4.3+0.1 (g5t 04
3000 4.7+0.41 220 *+ Lo
Fig. 2.2

It is suggested that V and d are related by the formula
e 8V

m ~ B2g?
where e is the charge on the electron and m is the electron mass.

(a) A graph of d? on the y-axis against V on the x-axis is to be plotted. Write down an
expression for the gradient in terms of e, mand B.

e _ _gi Al:?//"\\_/ - FM \/ . jflu/(c'e/( L’_: ﬂ_"_-
D ke ¢ B Zle
Ae . v
—_— z = M X g M
~f L B [1]

(b) Calculate and record values of (d?/ 10~* m?) in Fig. 2.2. Include in the table the absolute
errors in d2. (3]

(c) (i) Plot a graph of a2 on the y-axis against V on the x-axis. Include error bars for 2.
(2]

(ii) Draw the best-fit straight line and a worst acceptable straight line on your graph.
Both lines should be clearly labelled. [2]

(iii) Determine the gradient of the best-fit line. Include the error in your answer.

:)ﬂ\p(c(',\\': %
D
- 204-30 _ 134 - 0.007052k5---
T¥50-550 1100 3 s xfo3(754)

N Faccephble St liae) =230 40 = 181 % ¢4xip™3
gumitiens (1orsk accee ‘ ) e 1ses T ¢t

Coerror v 3-64—~x[0")-9'0)"x/6'] co0.59x(073
jndﬁut =3.08 xlo 14 0-5'7)(/0"?

- - -3
gradient = (7052 0.0 2]
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(d) The magnetic flux density B of the magnetic field is 7.9 x 1073 T. Using the answer to
(c)(iii), determine the value of %. Include the error in your value and an appropriate
unit.

5/%;(&‘8&&“%%’1——: ;1_05"\/10"3 , B= 7.6 x /o3

A 05 1[0
(1903 e ~
. ) 3 -/
%\QW =182 %)0%(354) (k3
perteafye e/ ror 6 j/g"(w"’t
- O:§5X/0‘S 0
- / = 8]( g .. - /J
PAN AL 3X'ozimjm%Xy.gzx/()?:o,/fxlo} ,
absolute o0 L 7% £ o (402500005

(e) The experiment is repeated with a different magnetic flux density. When V'is 500V, the
measured value of dis (3.8 + 0.1) x 1072 m. Using your answer to (d), determine a value
for the new magnetic flux density, B. Include the error in your value.

e . 8V Yy errop-€. 365~ +,,-g—i,—%— X loo x Z
M 72 > ;
b - (.51585- /o

“FN

I o 152 AI0F o, g =0 Tget 0027
( .

_ 03907

= sv . — e
6 f;; bsSlle ors0/ 68155 T X 0:370
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Question 2 was very well answered. It was pleasing to see the candidate use clear methods.
The candidate correctly determined an expression for the gradient in terms of e, mand B. Again it is
pleasing to see the candidate demonstrate the answer clearly.

The basic results table was calculated correctly with an appropriate number of significant figures given.

The method of determining the absolute uncertainties was correct in all cases. Significant figures in
uncertainties are not penalised in (b). Thus the last uncertainty £1 would have been accepted as well as the
candidate’s value of £1.0.

The plotting of points and error bars was good; the points were clearly indicated and the ends of the error
bars were clearly distinguished. Both the best fit and the worst acceptable lines were labelled — the
candidate had dashed the worst acceptable line as well as labelling it using text. The line of best fit and
the worst acceptable line were drawn carefully and were correct, the worst accept@e clearly passing
through the top of the top error bar and the bottom of the bottom error bar. O

The candidate calculated both the gradient of the best fit line and the worst a@ptable line correctly and
thus determined the uncertainty in the gradient correctly from the diff ce in the two values. It was
pleasing to see the triangle for the gradient clearly indicated on the nd the values clearly seen. The
power of ten error when reading off the y-axis is not penalised a ?istage The method for determining
the uncertainty in the gradient was also clearly shown. é

Part (d) was correct apart the power of ten error when c@atlng e/m. To determine the uncertainty in e/m,
the candidate’'s method of finding the percentage un inty in the gradient and then applying this to e/m
was correct. Fractional methods or working out using the worst possible value for the gradient would
also have scored this mark. The unit (C kg™ vx@early written down.

In (e) the candidate gained an answer specified range, allowing for the power of ten error that
was penalised earlier. This candidat arty showed the working. To calculate the absolute uncertainty in
B the candidate uses the percentage Uncertainty in e/m and then correctly adds it to 2 x the percentage
uncertainty in d. Sadly the canfiigate then incorrectly divided the answer by two. This was a very good
attempt. It should be note although this method was not specified in the mark scheme, if the
candidate had added th entage error of 8.368% to twice the percentage error in d, then credit would
have been scored for this¥part; this is an example where Examiners credit good physics which may not
appear on the published markscheme.
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Candidate B
Values of V and d are given in Fig. 2.2.

VIV d/102m a2/107m? Ao{ QA,;{
500 21201 4.4+ QY e d
1000 28:01 |18 0 12 9 A 42
1500 34:0.1 | [].(, ¥ O = 28 d
4+0. A7 3
2000 39:01 [|5.2% O]
2500 43:01  |)8.5% 0-9
3000 a7x01 |92.11 09
Fig. 2.2
It is suggested that V and d are related by the formula
e_8v _ms”?
m ~ B2g? ,r—zTn—’)_

where e is the charge on the electron and m is the electron mass.

(a) A graph of d? on the y-axis against V on the x-axis is to be plotted. Write down an
expression for the gradient in terms of e, mand B.

B+d%e = 8 mV
a*= %6';\ v Rm.
; 6o 1]

y _ fV\ X ..............................................
(b) Calculate and record values of (a%/ 10~ m2) in Fig. 2.2. Include in the table the absolute
errors in d2. [3]

(c) (i) Plot a graph of d2 on the y-axis against V on the x-axis. Include error bars for a2

(2]
(i) Draw the best-fit straight line and a worst acceptable straight line on your graph.
Both lines should be clearly labelled. (2]

(ili) Determine the gradient of the best-fit line. Include the error in your answer.

(odwnt of b = ‘:\i !:Sa =2 3-4-2.4 = 2l
J XX, 30- 950 M0
godiont of wos £ = Y - A R-36 - 82 T3
%% W50 3o

|\

o5t 1( ‘* | T-58 XI9 0
v ingloa\m’r - godwnt '\13 ’a(odxﬁwx bes} 4\”1‘
= B8R3N —T- 24 10 "
=343 NOA(' gradient = 724'?“0’1«0 2]
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(d) The magnetic flux density B of the magnetic field is 7.9 x 1073 T. Using the answer to
(c)(iii), determine the value of Tn— Include the error in your value and an appropriate
unit.

80\(&\%/\‘ € - ] , m
[N G ) e/m
Tuxc® ©12-82x107 - 49yl
mo g’ ’3Mo
Q 2 82x10% 7 _ Taxip™
- 5’-(,5><,0‘5 839 x 10

¢ L = [«7Txi108

cm—

m © 5-Bxgd - WTXIOS’(&S(T‘AIQMST (3]

(e) The experiment is repeated with a different magnetic flux density. When Vis 500V, the
measured value of dis (3.8 + 0.1) x 1072 m. Using your answer to (d), determine a value
for the new magnetic flux density, B. Include the error in your value.

A %

P

[aYalal
T MH
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Question 2 was generally well answered with the candidate only having difficulty in the last two parts. It
was pleasing to see the candidate use clear methods.

The candidate correctly determined an expression for the gradient in terms of e, mand B. The candidate
demonstrates clearly how the answer is determined. It should be noted that just linking y = mx + ¢ would
not have gained credit. An explicit statement of gradient is needed.

The basic results table was calculated correctly with an appropriate number of significant figures given. The
method of determining the absolute uncertainties was correct in all cases.

The plotting of points and error bars was good; the points were clearly indicated and the ends of the error
bars were clearly distinguished. Both the line of best fit and the worst acceptable lines were labelled. The
line of best fit and the worst acceptable line were drawn carefully and were correc orst acceptable
line clearly passing through the top of the top error bar and the bottom of the bo rror bar.

The candidate calculated both the gradient of the line of best fit and the worsCaeceptable line correctly and
thus determined the uncertainty in the gradient correctly from the diff ce in the two values. The values

for the gradient calculation were clear and could be checked easily. . Th wer of ten error when reading off
the y-axis was not penalised at this stage. The method for determining the uncertainty in the gradient was

also clearly demonstrated. 6

Part (d) was correct apart the power of ten error when c@ating e/m. To determine the uncertainty in
e/m the candidate’s fractional method was correct; it |d be noted that the working was clear. The unit
(m™'s?T?) is incorrect. The candidate would app%gto be trying to use base units but was confused by the
term Vin the original equation in the question @b ps thinking that it was a speed). If the unit had been
correctly given in base units then credit w ve been given. Similarly credit would have been given for
Vm?2T2

In (e) the candidate did not gain an anSwer in the range given and thus did not gain credit. There would
appear to be errors in the ca s calculation. Initially the formula quoted is correct; however, the
substitution for e/mis inco nd the candidate has only substituted 3.8 m for d rather than 3.8 x 107 m.
The candidate makes n pt to show working to determine the uncertainty in B; it is important that
candidates clearly indicat® how their answers are obtained.
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Candidate E
Values of V and d are given in Fig. 2.2.

VIV d/1072m d?/10™4m?
500 2.1+0.1 k-t *0u2

1000 2.8+0.1 T3k ¥ 0-Se

1500 34:01 ||\'S6¥ 008

2000 3.9+0.1 s-21 o

2500 4.3+0.1 3Ly ¥ O %6

3000 47101 | 2201* 0-9L

Fig. 2.2

It is suggested that V and d are related by the formula
e 14

m  B2d?
where e is the charge on the electron and m is the electron mass.

(a) A graph of d? on the y-axis against V on the x-axis is to be plotted. Write down an
expression for the gradient in terms of e, mand B.

e -3V
M BU?

- &nV : Tt
eRQ (&M = o %2
j ..................... € s 1]
N\'\uﬁ "= 3 4 (3%
(b) Calculate and record values‘of (a2 / 107* m?) in Fig. 2.2. Include in the table the absolute
errors in d=2. [3]

(c) (i) Plot a graph of d? on the y-axis against V on the x-axis. Include error bars for a2,

2]

(ii) Draw the best-fit straight line and a worst acceptable straight line on your graph.

Both lines should be clearly labelled. 2]
(iii) Determine the gradient of the best-fit line. Include the error in your answer.
Fo(;\b of tat e (530 3:2) ot Wt~ (32083090, 2y)
3200 23 Q CSOC/ L(')
ok - 3200 -30 Srwlmt = 3000 =S¥
@re = Z)K‘O 23-l)x\0"
~\M'kﬁ'4'#0ﬂo , 3RS 3ot
o weolaply = 13F0rm 1B 5 1008
(&mr3 l 3q ‘?OS ¢ ‘L
| LOX\0" £ 600

= 6.00%

gradient =" L 2]
kot 8to) x10*
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(d) The magnetic flux density B of the magnetic field is 7.9 x 1073 T. Using the answer to
(c)(iii), determine the value of £ Include the error in your value and an appropriate

unit. m b:l: e = 65‘0, 3-2)

= (S0ot)
ol ,@%o»;oz“c,)

O (Lr.z <(O4* \O'O

(e) The experiment is repeated with a different magnetic flux density. When Vis 500V, the
measured value of dis (3.8 = 0.1) x 1072 m. Using your answer to (d), determine a value
for the new magnetic flux density, B. Include the error in your value.

\0. ©C
3 + g—ﬂ@-}-“[. = % x SOQV 22
("53*10 ) g2 x((%.to.g x 10 2)
(0-00‘—

- 3 1 @etf) = k000 _
ts3x10 Box( 5o £0.36) X107

BY1s3x10%¢ &ﬁ)(}& (e €267 = L09O '

R=(829% 24371)T
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Question 2 was generally well answered at the beginning but the candidate found the last parts more
challenging.

The candidate correctly determined an expression for the gradient in terms of e, mand B. Again it is
pleasing to see the candidate demonstrate the answer clearly. Weaker candidates often do not show their
working and as a result often find the algebraic manipulation difficult. Some weaker candidates omitted the
‘8" from their final expression.

The basic results table was calculated correctly but from row three onwards the candidate has not used an
appropriate number of significant figures (sf). Since the raw data is given to 2 sf, then the calculated values of
£ should be given to two or three significant figures. In row three this means that the allowable values would
be either 12 (2 sf) or 11.6 (3sf). Another common mistake that weaker candidates make is to truncate their
answers; again using row three, if the candidate had written "11.5', then this would h n penalised. The
method of determining the absolute uncertainties was correct in all cases. Signifi igures in uncertainties
are not penalised in (b) and thus +0.42 and +0.4 in the first row would both hac)@ed credit.

The plotting of points and error bars was good; the points were clearly ipdicated and the ends of the error
bars were clearly distinguished. Weaker candidates tend to lose on o@ése marks for careless plotting of
points. Candidates should be encouraged to check plots that do &ppear to lie on a straight line (or smooth
curve). Both the best fit and worst acceptable lines were Iabellﬁ‘he line of best fit was drawn correctly
but the worst acceptable line was incorrect, since it did not& through the bottom of the bottom error bar.
Another error that occurs on weaker scripts is where the \wogst acceptable line is parallel to the line of best
fit.

The candidate calculated the gradient of the be@ﬂne and the worst acceptable line incorrectly. The read-offs
from the graph were clearly indicated and t idate also realised that d* was measured in 10 m? but the
candidate calculated Ax/ Ay. The candi alculated the gradient of the worst acceptable line by finding
Ax [ Ay, before calculating the perce ncertainty in the gradient rather than the absolute uncertainty. In
this case, the candidate has demonstrated the method for the determining the percentage uncertainty (by
finding the gradient of the wo ptable line and determining the difference with the previous gradient
calculated), and thus credit given since the Ax/ Ay has already been penalised in the first part. Thisis a
good example of where miner would apply the ‘error carried forward’ rule.

Part (d) was incorrect. The candidate substituted a point from the line rather than the gradient as required by
the question (furthermore, the value from the line was incorrectly read). Weak candidates often substitute
data points from their table of results rather than using the gradient. Another error by weaker candidates

is the incorrect evaluation of the expression, often becoming confused with powers of ten. There is little
evidence as to why the candidate has given the uncertainty as 10% — examiners would expect to see a clear
method for this mark to be awarded. The unit was omitted — a common occurrence in weaker candidates’
scripts. Candidates should be encouraged to try to determine the unit from the information that they have
been given. In this case, using the equation given earlier would give a unit of VT? m™, which would have
gained credit.

There is often one mark available on the paper for correct work throughout the paper and being able to
obtain an answer within a specified range. In (e) the candidate's response was not within the required
range. The uncertainty or percentage uncertainty was not clear and thus did not gain credit. A clear method
is essential for the award of this mark.
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Conclusion

Candidate A

The candidate has applied good practical physics skills to both Question 1 and Question 2. In Question 1,
there was clear evidence of good methods of data collection and the analysis section was logically
illustrated.

Candidate B

The candidate has applied good practical physics skills to both Question 1 and Question 2. In Question 1,
there was evidence of good methods of data collection including a very good diagram. In Question 2,
the candidate demonstrates good basic knowledge but does not excel in the final parts with the required
accuracy that would be expected of an A grade candidate.

Candidate E

The candidate has applied some practical physics skills to both Question 1 and Question 2 and thus
deserves a grade at A level. In Question 1, there was some clear evidence of good methods of data
collection and the analysis was encouraging, but the candidate did not answer the plan in sufficient detail
for the award of a high grade. In Question 2, there is evidence of a reasonable standard of basic skills with
a few slips; higher grades would not be accessed because the candidate was unable to deal with the more
complicated analysis required in the latter parts.
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